Igualdades (F)

8+46=5+9

8+A=5+6

ant+7=1+6

m+1=0+3

®+6=5+8

8+9=4¢+9

6+7=F1+8

3+0=3+8

5+2=0+2

an+1=3+1

Halle los valores de cada incdgnita.

X+9=9+9

0+8=A+3

5+0O=9+14

540=54+mO

1+3=3+0

7+0=6+5

6+4=5+0

3+ @=4+7

1+1=2+X

3+9=a+9
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Igualdades (F) Respuestas

8+6¢=54+9
=6
8+A=5+6
A=3
n+7=1+6
=0
m+1=0+3
m=2
@+6=5+8
®=7
8+9=<¢+4+9
¢-=8
6+7="H+8
=5
3+9=3+38
V=28
54+42=0+2
0=5
a+1=3+1
=3

Halle los valores de cada incdgnita.

X+9=9+4+9
X=9
0+8=A+3
A=5
5+O=9+4
©=8
540=54+mO
O=0
1+43=3+0
O =
7+90=6+5
V=4
6+4=5+0
N =5
3+@=4+7
® =28
1+41=2+X
X=0
3+49=n+4+9
o=23
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